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 3.1 �����	�
��
��� 
 
 3.1.1  �
������
���� (Theories of Investment) 
 ���������	
���
��
�	�����	��������	�	�������	 ����	�����������
�	

�	������ �!�	"�	���
��#	�$� �%�
� ���	�&��'�	��������(��� �	�
����� 1930 � -�����	 ���������	
�����!.�����	�
�
���	�/0����	 ����	��������� -������	1�� �!�	"�	���
��2�!�1�3�&�� �4�	%���	��0��	1�	��1��4���	 �	���
�����	� ����������	�� ��.��� ������	�������������	� ���������	
���1���	$1���	�
�$2�0��	56���(�.��	���
�� 
(Investment function) 7���	2�����	�4!2	�"	
8�9��	���
��&�������� ( �%4��:� �������
�, 2537)  
 
 1) �
������
�������������� (Accelerator Theory of Investment) �	2	�1����	�
�.��	 2%������ �!�	"
��
�.��	1��$1�2�	���1�0.��
�	���� 20�2%
	�	�@A�!�
!���	$�2�	���
�.�����	�&�� 1�3�������1�0.�����	�
��4��:����	���
�.�%1��	� �!�	"
����%A�A�!���.���� 
 
     t

t

K
x =

Y
    (3.1) 

 
 x �3� capital-output ratio �	�
��������	 capital coefficient 
 Kt �3�  �!�	"
��/���%��������!2$����	 t  Yt �3� A�A�!�$����	 t   
 ��	�
��4��:�$�
��	� (3.1) �	2�/���$1��&�� ������ 
 
     t tK xY=     (3.2) 
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 @�	 �	�E��	 ��	 x ��
�. ����1�	���	���	 ��	�
��4��:��%1��	� K ��% Y $�(������	A�	�&  � -�& $�
�	����������� ��.��3� 
 
    1 1t tK xY

− −
=        (3.3) 

 ��	
��	� (3.2) ������
��	� (3.3) 2%&�� 
 
    1 1 1( )t t t t t tK K xY xY x Y Y

− − −
− = − = −   (3.4) 

 
 $���3.� �!�	��	���
��
�
:! �3���	������	��%1��	� �!�	"
��$�(������	 
t ��% �!�	"
��$�(������	 t-1 �������  �!�	"�	���
��
�
:!$�
�.���20��
�	��� x �F"���� �!�	"�	�� ��.��� ��/��A�A�!� (Y) 2	��%�%���	 t-1 & @0��%�%���	 t 
 7����	2�	�����	�  �!�	"�	���
��
�
:!����	�
�	��� �!�	"�	���
��
���1�� 1��������	�
3.���	�	 @�	 It 1�	�@0�  �!�	"�	���
��
���1��$����	 t ��% Dt 1�	�@0� ��	�
3.���	�	$����	 t ������� �!�	"�	���
��
�
:!$����	 t 2%�
�	��� It - Dt 2%&��  
    1( )t t t tI D x Y Y x Y

−
− = − = ∆    (3.5) 

 
 ��.�1�	���	���	  �!�	"�	���
��
�
:!�
�	��� x �F"�����	�� ��.��� ��/��A�A�!���	 x �3� ��	
�� �%
!
:!G������� (accelerator coefficient) �	�
8�9����&��
���!$1� 
x ����	��
�. �4�	%H%����20��
�	�����	  �!�	"�	���
��� -�56���(�.��	�� ��.��� ��/��A�A�!���.���� @�	A�A�!��4!.�/0�� �!�	"�	���
��
�
:!�'2%�4!.�/0������ 
��	� (3.5) �
��$1��1'���	��3.� �%(	(����	�&��
F�/0�� ��������	������	�
!���	�� 7#���!7#��	�/0���	�& ����20�� -����2F�$2$1����	���
���4!.�/0�� 
	�%
�	���/��
8�9��	���
��2	�������� $��(!�������	
����	2
�� &����	 �	�A�!�
!���	2�	���1�0.�����2%������ �!�	"
���	� �!�	"
�.��	1��&�� (capital-output ratio) 
 
8�9��	���
��2	�������� &������	��!4	����!2	�"��	�4�
���� �(�� 
 �) �	���	1��$1���	 Capital-Output ratio ����	��
�. 
8�9��	���
��2	��������20���/��
����!7�� �!�	���	 ���
	1�����	�A�!�2%��	��!��	�A�!���'�����#	4��F�
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�
�� I0.�&��� -���	�2�!� ���@0�2%� -�2�!� �	� ��� �!�	"
���%1��	�
��
�.�����	����
��
�.����F�&�������!�/0��#	�$����	������
�	���� �����	2%����� -�����& �	����	 
 /) /��
����!
�.$1��%���	�A�!���F�$�#	�%��'�����#	4 &����
	�� -�2�!�&��$�#	�%������!2@�@�� (Recessions) �4�	%$�#	�%������!2@�@�� ���
	1����
���$1������	����	�A�!�
�����!� (excess capacity) &��&����	�	$(�$��	�A�!�
!���	��%��!�	�    @�	� -�& �	����
8�9��������1�	���	���	 !�	���
��
�
:!2%�4!.�/0�� @�	�� 
���������A�A�!��4!.�/0��" 20�&���	2� -�2�!�&��$�#	�%������!2@�@�� ��3.��2	�@�	���� 
�������4!.�
F�/0��2�!� 1����A�!��'
	�	�@$(���	����	�A�!�
�����!��	$(�$��	�A�!�
!���	��%��!�	�&��7��&��2�	� -������4!.��	���
��
�
:! 
 �) 1����	�/��������� (acceleration principle) ��/��
���!$1�
��
����%1��	�
����%A�A�!���
�. (capital-output ratio ��
�.) I0.�$��	������/��
���!������	�&��� -�2�!��
��&  ��3.��2	�1����A�!�����
	�	�@
��
��	�$(� 622���	�A�!��%1��	�
����%����	�&��$��%���1�0.� 
�	$1�
��
����%1��	�
����%A�A�!��	2� ��.��� ��&�� 
 �) �����	
��
����%1��	�
����%A�A�!�2%��
�. ��%&������	����	�A�!�
�����!� 1�����	�A�!��'����	2(%���	���
�� ��3.��2	�&�����$2��	�� 
������
!���	��%��!�	�
�.�4!.�/0������� -��	��4!.�/0��(�.���	�1�3�@	�� 
 2	�/��2�	���/�� 
8�9��	���
��2	�������� ������	��	���� ���������	
���&��4�	�	����&/
8�9��������	��3�1�����	����	��!� �(����������	������!2�����	����	�	�4�
���� $��	� �������#	4�%1��	� �!�	"
��
�.�����	� (desired capital) ��% �!�	"
��
�.����F�2�!� (actual capital) $�/"%
�.�����	��!���!�&����	1��$1��	� ��������!�/0��#	�$�(������	������
�	���� ���2	�����
8�9��	���
��2	���������	����$1�����
���!$1� �!�	"
��
�.�����	� (K*) � -���	������	�/��
����$��%�%�	� �4�	%H%���� 2%&����	 
 
  *

1 1( );0 1t t t tK K K Kα α
− −

− = − < <   (3.6) 
 
 7��
�.  Kt  �3�  �!�	"
��
�.����F�2�!�$�(������	 t 
  Kt-1  �3�  �!�	"
��
�.����F�2�!�$�(������	 t-1 
  K*  �3�  �!�	"
��
�.�����	� 
  α   �3� ��	��
�. �%1��	� 0 ��% 1 
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��	�
�. (3.6) �
����	 �	�� ��.��� ��/�� �!�	"
��
�. ��!�/0�� 2	�(������	 t-1 @0�(������	 t ����	�
�	������
���/����	������	��%1��	� �!�	"
��
�.�����	�$�(������	 t ��% �!�	"
��
�.����F�$�(������	 t-1 @�	 α  ����	�
�	��� 1  �!�	"�	���
��
�.����F�$�(������	 t 2%�
�	��� �!�	"
��
�.�����	�4��� 
 $���3.��	�� ��.��� ��/�� �!�	"
��2	�(������	 t-1 @0�(������	 t ����	�
�	���  �!�	"�	���
��
�
:! (It-Dt) &����	  
  *

1 1( )t t t t t tI D K K K Kα
− −

− = − = −   (3.7) 
 
 A�
�.&������3� �	���
��
�
:!����	�
�	��� α  �F"������	������	��%1��	� �!�	"
��
�.�����	�$�(������	 t ��% �!�	"
��
�.����F�$�(������	 t-1 ��	�
��4��:�$�
��	� (3.7) 20�� -���	�1�	�/���	���
��
�
:! 
 ��3.�
���!$1� �	���
���43.�
��
�
���
�.
0�1�� (replacement investment) $�(������	 t � -�
��
�����
�.��� �!�	"
��
�.����F�$�(������	 t-1 2%&����	�
��4��:������� 
 
  1;0 1t tD Kβ β

−
= < <     (3.8) 

 
 $���3.��	���
��
�
:! �3� It - Dt ����	�
�	��� 1( * )t tK Kα

−
−  ��3.��
���	 Dt $�
��	� (3.7) &��
��	� (3.9) ������ 

 
  *

1 1( )t t t tI K K Kβ α
− −

− = −    (3.9) 
 1�3� 
 
  *

1 1( )t t t tI K K Kβ α
− −

− = −     (3.10) 
 
 7��
�.  It �3��F���	�	���
��
���1�� 1�3� �	���
����3������ (gross investment) I0.�� -�56���(�.�/�� �!�	"
��
�.�����	� ��% �!�	"
��
�.����F� 
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 �	����2�	����������4�
�� ��	  �!�	"
��
�.�����	�@F���	1��7�� �!�	"A�A�!�I0.�&��A�2�!� ���&��� -�
��
�����
�.����%���A�A�!�  �	2���	�&����	  �!�	"
��
�.�����	�$��%��������!2� -�56���(�.�/��A�A�!�
���$�������% 622���� I0.�� -�A��	2	��	����
!�$2$��%�%�	� 
 
 2) ������	
���
������������
��	��� (Internal Funds Theory of 
Investment) 
8�9��	���
��7��$(���!�
��#	�$� @3���	 �!�	"
��
�.�����	�/0����F�����%���A���	&�/��1����A�!����� ���������	
���2�	���&����������	��1'�& $�
�	�������������� �(�� Jan Tinbergen ����	��1'���	 A���	&�
�.����%1����A�!�&����� (realized 
profits) ����
%
���@0�A���	&�
�.�	���	2%&����$���	�� (expected profits) ������� �	���
��2%�	�1�3���������A��� �& �	��F���	A���	&�
�.1����A�!�&�����$� 622���� 
( �%4��:� �������
�, 2537)  
 7�� ��! ��3.�1����A�!�2�	� -�������
�� 2%�!��$(���!�
��
%
�#	�$��	����	�	�$(���!�
��2	��1���#	���� ��!�
���	21	&��2	�1�	��1���������� &����� 

- ��!�
%
�#	�$� &����� ��	&�
�.&��&��2��
�� (retained earnings) 
- ��!�
�	�����	�
3.���	�	 (depreciation expense) 
- ��!��F��3� ���
����	�/	�1����F� (borrowed funds) 
- ��!�2	��	�/	�1���
�� (equity funds)  

 ��!�
%
�#	�$���%��!�
�	�����	�
3.���	�	 ���� -��1�����!�
��#	�$�1����A�!� 
�����!��F��3���%��!�2	��	�/	�1���@3�� -��1�����!�2	�#	���� �	�$(���!�
��2	�#	���� 7���H4	%�	��F��3�2	�
@	����	���!���	�K 
��	�#	�%AF�4�������!��
����2�	���������$��%�%���	�	� @�	��!�
#	4������!2(%������ ��!��
�	2&��
	�	�@����	#	�%AF�4��������	�&��&�� ��!��

���$1�� 20�4�$22%$(���!�
��
%
�#	�$��	����	��!�
��2	��1���#	���� 
�	1�����!�
��
�.&��2	��	��4!.�2�	���1�����!��
$���	�1���
��4������ �'&��$(�
	���3��
�.���
��&  ��3.��2	���3.����	��4!.�2�	���1��� ����1�	���	���	����	�	�2�	���!� 6�A����1���2%�����.�	���	 
�	$1�#	442��/����!��
&����$�
	��	/���1	(�
�.�&  ���2	������	��4!.�2�	���1������
�	$1���	�	2$��	���!1	��!2�	����������& ���	��!� �4�	%
��
����	�@3�����1���/���2�	/����!�����������.���� 
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 �	�
8�9��	���
��7��$(���!�
��#	�$�20�@3���	 !�	���
��@F���	1��7����	&�/��1����A�!�" I0.�� -���	��1'�
�.�����	�& 2	�
8�9��	���
��2	�������� I0.�@3���	�	���
��@F���	1��7�� �!�	"A�A�!�  
 
 3) ������	
���
������	���������	���� (Neoclassical Theory of 
Investment) &��4�L�	�	2	�
8�9��	�
%
�
��$��%���
�.�1�	%
� �	�
8�9���� �!�	"
��
�.�����	�@F���	1������A�A�!���%����	�������� ���
��� 622���3.�K 
�.����	�
�	��� &����� �	�	/�� 622���	�A�!���3.�� �����
�������	�	/��A�A�!� 
�� ��	@�	���	�� ��.��� ��A�A�!� ����	�������� 1�3��	�� ��.��� ��/���	�	 622���	�A�!���3.�� �����
�������	�	/��A�A�!� ����
	�	�@� ��.��� �� �!�	"
��
�.�����	�&�� ��.��3��	�� ��.��� ���	���
����.���� ( �%4��:� �������
�, 2537)  
 2	�
8�E��	���
��/��
�	�����7���	

!�  ����	��������
�.���
�	
���	�
�	������ �!�	"�	���
��#	�$� �%�
� �������56���(�.��	���
��� -��	��:!�	�@0� 622��
�.��	1���	���
��$��F ���/����	�
��4��:� /������	�������� �	�&�� ��% 622���3.�K 
�.������	���
�� ��%���2	�����	���
��7�����2	���	� �%�
�2%/0����F���� 622���3.�K /�� �%�
�
�.����	���
��&����� (4�4� ����	��
�, 2534) 
 
#	4����� (Liquidly) /�� �%�
�
�.����	���
��� -������	1���	����
!�$2$��	���
���%1��	� �%�
� I0.� ��!�%����	���
���%1��	� �%�
�/0����F����
#	4�����/�� �%�
�
�.����	���
�� 7���F2	��%���/����	&�/���	� �%����	�/����!��

�.
�	�	���
��$� �%�
�����K ����	�	���'�#	��/������	�
�.��'�2	���	&�/���	� �%����	�/����!��

�.��
��$� �%�
� /��������$��	�����	�$1�1����	�
3.�� �7��	��	���	�	�&���	��
���	��91�	� ��%��!�
�#	�$� (Inter Cash) /���!2�	�
�.
�	�	���
���4!.�/0��
�	$1�AF���
�����	�$(�2�	��4!.�/0�� 
 ����	A�����
� (Rate of return) /���!2�	�
�.
�	�	���
��$� �%�
�
�.����	���
�� I0.��
��$��F /����	&�
�. �	�E$����(�/���!2�	�
�.
�	�	���
��$� �%�
����� 1�3��	2� -���	&�
�.�!2�	��	�1�����	2%&�����$���	�� 
 ��	�
��4��:��%1��	�A�A�!���%��	�
	�	�@$��	�A�!� � -������	1���	���
�� 
�.4�L�	�	2	�
8�9�������� (Accelerator) I0.���	1��&����	�	���
��2%� ��.��� ��� -�����	������3.����$�
���%/��AF���
�� �	���
��2%� ��.��� ��& ��3.�
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��	�
��4��:��%1��	�A�A�!�1�3����/	��4!.�/0�� ��������	���
���%1��	� �%�
�2%� ��.��� �� 
 � N	1�	� (Strategies) � -������	1��
�.
�	��� �%�	�1�0.� �3�� N	1�	��%�%�	�/���!2�	�
�.2%
�	�	���
��
�.2%��A���%
���%�
3�������	&�/���!2�	�$���	�� � N	1�	��%�%�	�/���!2�	�  
 �7��	�
���
�!��	���
�� (Investment Incentive Policy) �7��	��	�
���
�!��	���
�����!
:!4�����	���
��
	�	�@4!2	�"	���&��� -� 2 ����"%   

� $���	�� -� �%�
�AF���
��������	�$1�/�	�
	���%�	���%
�	�	�
���
�!��	�$1���!�
���
����	���
�������	� �%�
�7���H4	%�	���
��$��F /����!��
I0.��	�$1�/�	�
	���	�K ���!
:!4�����	���
��2	���	� �%�
� �	�$1� �%����	���
��2	�����	�1�3���!��
 �%���#�����!
:!4�����	���
�����	��	� 
����	�����	��
�.��
	��	���	�	2(����1�3�A�	��	���	�7��$1��F��3�7��
@	����	���
����	�K  �7��	���	��	������43.�
���
����	���
��$� �%�
�����4�L�	 �%���	���'�#	��/�� �%�
�AF���
���	22%��3�� E!���!���AF���
��2	���	� �%�
�
�	$1�AF���
��&�����	��	��!�& ��
�� �%��#	������	22%� ��.��� ��$1�������"%�
�	�
��������� �%�
�
�.
���
�!��	���
�� �%�
��3.�K �7��	���	��	���	  �%�
�AF���
�����7��	�&���������	���	 �(�� ��'�#	������	��2	�
!���	
�.AF���
��
���	2	���	� �%�
���%$1� �%�����	
!
:!4!������2%&��@F�@���	�$(�
!
:!4!��� 
�	$1���	�/��AF���
�����	��	�����	�$1����	�7����	��
�7�7����	�A�!� �	�����	�$1�
��
!���	�	�(�!� ���
����
��!�$1�� 2%��
���
���
�!��	�/�	����/���	���
���%1��	� �%�
� 
� $���	�� -� �%�
�AF�����	���
�� �	22%
���
�!��	���
��7��2��$1����	��������	���'�#	�� �	�$1�
!
:!4!����	��
��#	����	�/�	
�	1������3.���3���%���@��!� �	���'�#	������	��
�	1���
!���	�/��/�� ����7���	�	�$1���	�
%���$���3.��
�.������%
	:	�"F 7#���	�K ���
����	�/�
�� �	�A��� ��$���3.���	����� ��.����!���	 �	�$1� �%����0����� ��%�	�����	�$1���	�	�&��
������ �%�
� �1��2F�$2�1��	���2%��
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A����AF���
��
	���	����
�� ����	A�����
�/���	�&��I0.�� -������	1���	���
���4!.�/0��
��
� 

 ���2	� 622��
�	���
�.���	��	����/�	����  622���3.�K 
�.�����������	���!
:!4�
�	�������	���
���%1��	� �%�
�&����� ��	������	�/������	��	2�	�I0.�� -� 622��
�	���$��	���	1����	�&��� ����$��	���	��%�	���
���%1��	� �%�
� ����	���� ��.�� ���& @0���	���.���
	��	���3������ 
 2%�1'�&����	���������	
�����7���	

!��������������	�
�	���/������	��������$1�� -����� ���	1���%����	���
��
�.�����	� I0.�@�	AF���	1���7��	���������	��!���� ����1�	���	���	 �7��	��	���!�
	�	�@$(�� ��.��� ���%����	���
��#	�$� �%�
�&��  
 
 3.1.2 �������"���"�#������$�#	%�&
�'�(�$�(�	��)
�*��& 
 
 1) ������	
�&
�'�(�$�(�	��)
�*��&���������	����  
 
8�9��	��2�!���!�7�
	�������!2$� 622������������ -�1�	�
8�9� ������	�&��'�	�
8�9�
�.&������	�������������	����	�/�	�$� 622���� 1�3�� -������	��!���%�
1��� (Mainstream) �'2%&����� Neoclassical Growth Theory  
 �����	��!�/����7���	

!���� � -�
8�9�
�.����$1��1'���	�	�
�. �%�
�1�0.�2%���	��2�!���!�7�
	�������!2 (I0.����2	� �!�	"
!���	��%��!�	�
�.
�������� K 
	�	�@A�!�&��$�(������	1�0.� K 1�3� GDP 1�3� GNP) �	�/0��1�3��������� ����/0����F���� 622����	�/�	 (input factors) 
�.
�������� K $
���& $���%����	�A�!� ������� ��%����	��2�!���!�7�
	�������!2�	������	��!�/����7���	

!� 20�
	�	�@�/���� -�
��	�&�� ������ (4�#�
� ���	��, 2548) 
    
   Y = f (K, L, NR, T)     (3.11) 
 7��
�.  
 Y  =   ����	�	�/�	����/�� GDP 1�3� GNP (I0.��'�3����(���������	�	� 
       �2�!���!�7�
	�������!2)  
 K  =    622��
��
�.$(�$��	�A�!� (Capital)  
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 L  =    �!�	"����	�
�.$(�$��	�A�!� (Labor)  
 NR  =    622����	�
��4�	��:���(	�! �(��
�.�!�
�.$(�$��	�A�!�  
       (Natural resources)  
 T  =    622����	��
�7�7��� (Technologies)  
 
 ���	��3� �	��2�!���!�7�
	�������!21�3� �!�	"
!���	1�3���!�	� 
(Outputs) 
�.
����1�0.� K 
	�	�@A�!�&��$�(������	1�0.� K ����/0����F������	 �%�
����� K �� 622����	�/�	 (inputs) $��	�A�!��	������4���$� ���	��3�@�	�� 622��
�� (K)  622����	�����	� (L) 
�.�1�	%
� ��
�.�!�1�3�
��4�	��:���(	�! (NR) ��%�
�7�7��� (T) ���	��4���4�  �%�
��1��	�����'2%
	�	�@A�!�
!���	��!�	���	� K &���	�/0�� �	�&�� �%(	(	�!�4!.�
F�/0�� ������!2/�	������%��!��	�4�L�	 ��%2	�
��	�������	�/�	���� 20�&��/��
�� $�
	�������/�	�
�.��	  �%�
�
�.����4�L�	1�3����	��2�!���!�7�
	�������!2�.�	�'����� -��4�	%��	 /	� 622����	�/�	������	��	���� �(�� ���	������%�	���
�� (K) �.�	��!�&  /	� 622����	�
��4�	�� �(�� 
�.�!� (NR) ��%����	� (L) 
�.�1�	%
� ����2�/	���	�
	�	�@
	���	��
�7�7��� (T) � -����  
 2	�
��	��	��2�!���!�7�
	�������!2������	�/�	���� 
�	�����7���	

!� &�����	�����
���!�	�43���	� (Assumptions) &�� ������  �) ��3.��2	�
��4�	��:���(	�!��%
�.�!� (NR) /��
��
������2�	��� ��	20�
	�	�@
���!$1� NR � -� 622��
�.����/�	���
�. (relatively constant)   /) �	�/�	����/������	� (L) @F���	1��$1�� -�
��
���
�./0����F���� �!�	"�	���
�� (K) ���	��3�@�	 �!�	"�	���
��&���4!.�/0�� ��	������	�����	��'2%&���4!.�/0������ $�
	�������/�	� @�	���	���
���	�/0�� ��	������	�����	��43.�$(�$��	�A�!� �	����������3.��2��� ���3.���3���	� K �'2%�4!.�/0������  �) 
����
�7�7���  (T) @F���	1��$1� � -� 622��
�.�	2	�#	���� 

(exogenous factor) $��%�%
�������/�	���
�. ���	��3� ��	���	�1��	
	��
�7�7�����������/�	�� ��.��� ��(�	 
�������' �4�	%��	�	�4�L�	�
�7�7���
���$1�������!�$� �%�
�4�L�	���� 1�3�4�L�	/0��7�������
/�	�(	�! ��% �%�
���	���4�L�	2%�����	�
�7�7���������	��	
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$(������	������	����/�	��	� ������� ��	���	�1��	
	��
�7�7���20�� -� 622��#	���� I0.�$��%�%
���
���!$1���
�.  
 

 2	�
���!�	���3������������	� 20�
�	$1�
�	�����7���	

!� &��/��
�� 
�.��	 ��3.��2	� NR , T ����/�	���
�. ��% L � -�
��
���/�� K ������� �	��2�!���!�7�
	�������!2 (1�3��	�4�L�	) 20�/0����F���� �!�	"�	���
�� (K) 1�3��	�
%
�
��� -�1��� 
 2	������	��!�������	� 
�	�����7���	

!�20�&��/��
�� 
�.��	  �%�
���	���4�L�	���� 2%
	�	�@������ N	1�	�/���	�4�L�	&���'�����	�$1���	�
�	�������	��%����!���� �43.���	��!�����	��
��$�7���
��	�43���	�
	�������!2 (Physical capital) ��	� K �(�� 
��	�7���	� ���3.���3����3.��2����4!.� 
��	�@�� �%��7
����	�� 
�	�	�	��	� �%��(� �%
	���	� K $1��	�/0�� @�	���	�
%
�
�� (K) ������	��	��!.�/0�� ������!2�'2%�!.��2�!���!�7� 
��A�$1��	�&�� �%(	(	�!/�	���� ��	������	�����	��4!.�
F�/0�� ��%��!��	�4�L�	/0��  
  
 2) ������	
�&
�'�(�$�(�	��)
�*��&��� Solow  
 
8�9�/���	��2�!���!�7�
	�������!2 �	������	��!�/��
�	�����7���	
�!� I0.����!
:!4����	��	���������	��!����.������	�4�L�	 ��%�	��2�!���!�7�
	�������!2$� 622�����	�
�.
�����1�0.� �'�3� Solow 9 Type Growth Model �����	��!�/�� Solow ���&��@F�4�L�	/0��$�(���
�����
�. 1960s 7�����������	
����	����7���� 
Robert Solow 
��	��	�A�!����	���	�/�� Solow 
	�	�@�/�������	�F 
��	�&�������� (4�#�
� ���	��, 2548) 
 
   Y = f (A, K, L)      (3.12) 
 7��
�.  
 Y  =    �!�	"
!���	1�3���!�	�
�.
����1�0.� K 
	�	�@A�!�&��$�(������	
        1�0.� (���(���������	�	��2�!���!�7�
	�������!2)  
 A  =    622����	���	���	�1��	
	��
�7�7��� (Technologic progress)  
 K  =    622��
��
�.$(�$��	�A�!� (Amount of capital)  
 L  =    �!�	"����	� (Labor)  
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 �	������	��!�/�� Solow ���� A I0.��'�3���	���	�1��	
	���	��
�7�7���� -� 622��
�.�	2	�#	���� (exogenous factor) �(������������������	��!�/����7���	

!�
�.�&  ��%$��%�%
���
	�	�@
���!$1���
�.&�� �4�	%����/�	�� ��.��� ��(�	 
��� L 1�3� �!�	"����	��'�(���������� ��	1��$1�� -�
��
���
�./0����F���� �!�	"�	���
�� (K) ���	��3�@�	 K &���4!.���	������	�����	��43.�
�	�	�A�!��'2%&���4!.�/0�� ���@�	 K �4!.� ��	������	�����	��43.�A�!�
!���	��!�	� ���������3.���3� ���3.��2��� �'2%�4!.�/0������ ������� L 20�� -�
��
���/�� K  
 �F ����	��2�!���!�7�
	�������!2/�� Solow �
��$1��1'�@0� �9�	�������@����/��A�A�!�
����4!.� (Diminishing Returns) /�� 622��
�� (K) ���	��3���3.� �%�
�$� �%�
�1�0.�4�	�	��4!.��	���
�� �(�� 
��	�7���	��4!.� I3�����3.���3����3.��2����4!.� ����2�
��	�7���
��	�43���	�
	�������!2 �(�� �%��7
����	�� 
	:	�"F 7#���	� K �4!.��	�/0�� (I0.��'�3� 622��
��) �'2%
��A�$1�
	�	�@A�!�
!���	��!�	�&���	�/0�� 
�	$1�������!2���	��2�!���!�7��	�/0�� ������	�&��'�	��	��4!.��	���
���	�/0��& ��3.�� K 2%@0�2��2�	���$�
�.
�� 
��������3.��2	�
�� �%�
��� 622���	�A�!��3.� K 2�	��� �(�� ��
�.�!�2�	��� ������	�
�.��
���%
�.�1�	%
�2�	��� ��
��4�	��:���(	�! ���@��!�2�	��� ������� �	��4!.� 622��
���/�	& ��3.�� 
�	�
�.
���'2%@0�/��2�	��� 
�	$1�A�A�!�
����4!.� (marginal product) 
�.&�����������!.�������@���� 
 2	�
���!�	�
�.��	 ��	���	�1��	
	��
�7�7��� (A) ���	�� ��.��� ��&��(�	��%$��%�%
���
	�	�@��	1��$1���
�.&����% �!�	"����	� (L) � -�
��
���/���	���
�� (K) ������� 
��	��	��2�!���!�7�
	�������!2/�� Solow 20�&��/��
�� 
�.��	 �	��2�!���!�7�
	�������!2/������% �%�
�20�/0����F���� �!�	"�	���
�� (K) � -�1��� �������
��	��	��2�!���!�7�
	�������!2/�� Solow 20�
	�	�@�/���� -�
��	����	���	� &��������  
    
    Y = f(K)    (3.13) 
 
  �%�
�
�.��	��	�	�&�� �%(	(	�!/��������	$(�2�	�$��	���
��$� 622��
�� (K) �4!.��	�/0�� 7��
���!$1�����	�	�/�	����/������	���%��	���	�1��	
	��
�7�7���&��� ��.��� �� �(�� ���	���
��$�7���
��	�43���	�
	�������!2�4!.��	�/0�� ��
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�	�2��I3�����3.���3����3.��2����4!.��	�/0�� 
��	�7���	�$1���4!.��	�/0�� O�O �'2%������	�	��2�!���!�7�
	�������!2
F����	 �%�
�
�.���	���
��$� 622��
���������	  
 ������	�&��'�	��	���
��$� 622��
�� (K) 2%�4!.�/0��&��1�3�&��   �'/0����F������	 �%�
����� K ���	���� (S) �	��4���4�1�3�&�� ���
��	�/�	���	����  
 
    Kt+1 = St + Kt     (3.14) 
 
 1�	���	���	 �!�	" 622��
��$�(������	 Kt+1 1�3�$� P1��	����2%�	�/0��1�3������� �'/0����F�����	����$� 622���� (St) ��% �!�	" 622��
��
�.����F�$� 622���� (Kt) ������� @�	���	���� �	�/0��$� 622���� ��!�����1��	����'2%
	�	�@@F���	�	$(��43.���
��$� 622��
���4!.��	�/0�� 
�	$1� P��� K & 
	�	�@�� 622��
���4!.��	�/0������   
 2	�
���!�	�������	�/�	���� ���
�	����(!��7��	�/��
��	��	��2�!���!�7�
	�������!2/�� Solow 
	�	�@
�� &��� -� �%��'�
�	��� ������  �) �	��2�!���!�7�
	�������!2/������% �%�
�2%/0����F�����	���� (S) ��%�	���
��$�  622��
�� (K) � -�
�	��� @�	 �%�
�$��'�	����	���	��	�	�&��/��������	���$1��	�/0�� (�
�
�.2%��!7#�$1�1��) ������	��!����������	� �	$(��43.��	���
��$�7���
��	�43���	�
	�������!2 (Physical capital) �(�� 
��	�7���	��4!.��	�/0�� �4!.����3.���3����3.��2���$1��	�/0�� ����2�4�L�	7���
��	�43���	�
	�������!2 �(�� �%��
	:	�"F 7#���	� K $1��	�/0�� �'2%������	�	��2�!���!�7�
	�������!2
�.
F����	 �%�
�
�.���	���� ��%�	���
���.�	���	 �������  �%�
�
�.�����	�2%�4!.�����	�	�/�	����
	�������!2$1�
F�/0�� ��% ��� ����	���	���	�� -���F�/�� �%(	��$1���/0�� �'
	�	�@
�	&��7���	��4!.�����	�	���� ��%�	���
��$1��	�/0�� ��%$�
	�������/�	� �%�
�
�.�	�2���%���	��2�!���!�7�
	�������!2
�.�.�	 ��%�'2%���	�2����&  �'� -��4�	%��	 �%�
��1��	��� ���	������%�	���
���.�	��!�&   /) 
��	�/���	��2�!���!�7�
	�������!2/�� Solow ���(��$1��1'�@0���	�
	�	�@
�. �%�
��	�2�2%
	�	�@&���	�
�� �%�
�
�.�.�	���&�� 

(Convergence of per capital income hypothesis) I0.�� -�A��	2	��9�	�
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������@����/��A�A�!�
����4!.� (Diminishing returns) ���	��3� @0���� �%�
�
�.���	������%�	���
��
F� ������	�&��'�	���3.����	���
���4!.�/0����3.�� K �	��2�!���!�7�
	�������!22%��!.�@0�2��2�	��� ��3.��2	�
�� K  �%�
���
�.�!� 
��4�	��:���(	�! ����2�����	�2�	��� ������� �	��4!.��	���
���	��/�	 K 2%@0�2��2�	���
�	$1�A�A�!��4!.�/0��&������ ��%�	��2�!���!�7�
	�������!2(%�������$�
�.
�� ������� �%�
�
�.4�L�	�	��	
�1��� ��%���	�����	���
��
�.
F��'2%�	�
�� 7��
	�	�@���	�&�� �%(	(	�!�
�	�
������ �%�
�4�L�	����
�.
��  
 

 $� 622��������!(	�	���	��	�4�L�	� -�2�	����	�&��4�	�	� �%����������	��!�/�� Solow �	$(��:!�	� 6�1	�	��2�!���!�7�
	�������!2/�� �%�
���	���4�L�	 ������	�
�.
�	���&�����  
 
8�9� Big Push /�� Rosenstein Rodan 7������$1�����	��/�	�	���
�	
$��	�
���
�!��	������%�	���
��$�7���
��	�43���	�
	�������!2 ( 622�� K) 7���	������������	��!�2	� Solow Growth Model  Rodan &��(��$1��1'���	 �	�$1�����	��/�	�	��
��$�7���
��	�43���	�
	�������!2�(�� @�� �%�����	�� 7
����	�� �%��(� �%
	� 
�	��3� 
�	�	�	��	� 7������� O�O 1�	� K ��	��1��	���4���� K ��� 2%(��������
��������
	1����
�.�����	���7���
��	�43���	��1��	��� ������� 20�2F�$2$1���!��	���
��$����
	1����
�.�(3.��7�����7���
��	�43���	��1��	��� 
�	$1��	���
��$��%��������!2�4!.��	�/0�� ���	�
%
�
���	�/0�� ��%��!��	��2�!���!�7�
	�������!2  
 Balanced growth Theory /�� Rognar Nurkse &���	��������	��!�/�� 
Neoclassical Growth model 7��(��$1��1'�@0���	�
�	���/�� 622����	��	������%�	���
��$� 622��
������	��2�!���!�7�
	�������!2/�� �%�
���	���4�L�	 Nurkse &���
�������	��!���	���� Balanced Growth 7��(��$1��1'���	�	�
�. �%�
���	���4�L�	������	�	��2�!���!�7�
	�������!2
�.�.�	�'�4�	%���	������%�	���
���.�	��!�&  I0.��'��!�2	��	�
�. �%�
���	���4�L�	���� 2�	� -�������	�/�	
!���	���
	1����
�.���	�	�4�2	���	� �%�
� $�/"%
�.
�����
!���	�	������I0.����	�	���.�	 
�	$1���!��	�/	����
	��	���	  �%������AF����	�&��
F�$� �%�
���	���4�L�	����'����!����	�/�	
!���	5�Q��5R��2	���	� �%�
� �43.����������	���!7#�/�������$� �%�
�4�L�	���� 
�	$1� �%�
���	���4�L�	����
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F��
����!���� ��%����	�
	�	�@$��	���
���� Nurkse 20��
��$1�����	�/�� �%�
���	���4�L�	������	�4�#	�� (Tariff) �43.�2�	����	���	�/�	 �	�������	�4�#	��������	� 2%(���
�	$1���!�
����� 
	���%�� 
��� /���	������%�	���
�� 20�� -��	�4�L�	
�.
���� 
(Balanaced Growth) 
�����	� supply ��% demand ���	��3� �	�������	�4�#	���43.����	���	�/�	2%(������	�
F��
����!�������& ��� �%�
� 
�	$1� �%�
���	���4�L�	���� 
	�/����!�����	�/0�� ��%
	�	�@��	��!����������	�& $(�$��	���
��$��	�
��	�7���	� ����2�$�7���
��	�43���	�
	�������!2��	� K &���	�/0�� ���2	�������	�4�#	�����(�����%����$1���!��� 
������
!���	���
	1����
�.A�!�#	�$� �%�
��43.�
��
��	���	�/�	&��������� 20�� -��	��2�!���!�7�
�.
����7����
�����	��� 
�����%�� 
	� /���	���
�� 
�	$1��	�/�	����/���	���
��$�#	����
	1����� -�& ���	���.��3� 
 Two 9 Sector Model /�� Arthur Lewis (��$1��1'�@0���	�
�	���/���	���
��$� 622��
�� Lewis �1'���	 �%�
���	���4�L�	������ 6�1	
�.
�	����'�3�������	�
�����!� (Surplus Labor) � -�2�	����	�7���H4	%$�#	��	������ ������� 1��	
�./������	��'�3��	�4�	�	��0�����	�
�����!�
�.&��&��$(� �%7�(���1��	�������	2	�#	��������%��	�	$(�$� �%7�(��$�#	����
	1����$1��	�/0��  �	���
��$�#	����
	1����2%
	�	�@/�	����7���	�������	��	�	@F��1��	��� ��3.��	���
��/�	�����	�/0�� ������!2�'2%/�	����&�����	���.��3�  
 
8�9��1��	����1'�4������������	 ������!2/�� �%�
���	���4�L�	2%
	�	�@�2�!���!�7�&�����	���.��3�&�� �'2%����$1���	�
�	�������	������%�	���
��7���H4	%�	���
��$��	�4�L�	#	����
	1����  ��%7���
��	�43���	�
	�������!2��	� K ������	�&��'�	���3.��2	�$� �%�
���	���4�L�	���� ��	�
	�	�@$��	������%�	���
��/��#	����(����2%�.�	 ������� @�	 ������&���	� ����4������	������7������	�&���/�	�	�
���I�������!2/�� �%�
���	���4�L�	�'2%&��
	�	�@���	��2�!���!�7�&��  
 7��
�� 2%�1'�&����	
8�9��	��2�!���!�7�
	�������!2��%�
1��� &����	2%� -� Neoclassic 1�3� Solow?s model ����2������	��!�/�����4�L�	�	�������!2��	� K ��	��'$1���	�
�	�������	�
���
�!��	���� ��%�	���
��$� 622��
��&����	2%� -�$���	�7���
��	�43���	�
	�������!2 ����2��	���
��$�#	����
	1������	� K ��	� -� 622��
�	�������	��2�!���!�7�
	�������!2 7���(3.���	@�	 �%�
�$����	������%�	���
��
F� �'2%
�	$1�������!2/�� �%�
��������	��2�!���!�7�
F����� ���	��3� �%�
�
�.��
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�	������%�	���
��
F�2%���	��2�!���!�7�
	�������!2
F����	 �%�
�
�.���	������%�	�
%
�
���.�	  
 
 3) �
+$#���)�,�-%.����	
�&
�'�(�$�(�	��)
�*��& (Endogenous Growth 
Theory) Endogenous Growth Theory � -�
8�9�
�.&��@F�4�L�	/0��$�(��� �	�/��
�����
�. 1990s 7�����������	
����	����7���� �3� Robert E.Lucas (&������	����7����
	/	������	
���$� P 1993) ��% Paul M.Romer (&������	����7����
	/	������	
��� $� P 1996) Endogenous Growth � -������	��!�
�.&�������1'�������������	��!�/�� Neoclassical Growth Model ��% Solow 9 Type Growth model ��� 7��4�	�	�(��$1��1'���	
��� Neoclassic ��% Solow model ���� ��	��'$1���	�
�	������ 622����	��	������%�	���
��7���H4	%�	���
��
	��	�#	4 (physical capital) �(�� �	�
��	�7���	��4!.���%�	���
��$�7���
��	�43���	�
	�������!2��	� K �	�2���!�&  $���	�� -�2�!����� �	��2�!���!�7�
	�������!2
�.��.��3�$��%�%�	� &��&��/0����F�����	�
%
�
��
	��	�#	4�
�	���� ������/0����F���� 622���3.� K ������� 7���H4	%�	�4�L�	��	�
�������� 
(Human capital) Endogenous Growth Theory 20�� -�
8�9�
�.4�	�	�(��$1��1'�@0���	�
�	���/�� 622����	�
�������� ����	��2�!���!�7�
	�������!2 (4�#�
�� ���	��, 2548) 
 Endogenous Growth Theory � -�
8�9�
�.�(3.���	�	��2�!���!�7�
	�������!2
�.��.��3�$��%�%�	����� &��&��/0����F�����	������%�	�
%
�
��
	��	�#	4�
�	���� ������/0����F�����%���/���	�4�L�	��	�
��������������� 
��	�/���	��2�!���!�7�
	�������!2/�� Endogenous Growth Theory �	2�/�������	$��F 
��	��	�A�!����	���	�&��������:  
 
    Y = f (K, H, R)     (3.15) 7��
�. :  
 Y  =  �!�	"
!���	��%��!�	�
�.
����1�0.�K 
	�	�@A�!�&��$�(������	
      1�0.� K (���(���������	�	��2�!���!�7�
	�������!21�3� GDP)   
 K  =  �!�	"/�� 622��
��
�.���	�
%
�&�� (Amount of capital stock)  
 H  =  �!�	"/�� 622����	�
�������� (Stock of human capital)  
 R  =  �!�	"/���	��!2����%�	�4�L�	 (Research and Development)  
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 I0.�2	�
��	�/�	����2%�1'�&����	 Endogenous Growth theory (��$1��1'���	�	��2�!���!�7�
	�������!2
�.��.��3�$��%�%�	�2%��!�/0��&������ &��&��/0����F�����	���
��$� 622��
��
	��	�#	4�
�	���� ������/0����F�����	���
��$�
�������� (�(�� �	���
����	��	��0��	 �	�4�L�	
���%SP�3�����	�) ����2��	���
��$��	�
�	�!2����%�	�4�L�	�������  
 ���	�&��'�	� Endogenous Growth Theory 2%$1���	�
�$2��� 622����	��	���
��$�
�������� � -�4!��� 7���(3.���	 �%�
�
�.$1���	�
�	�������	���
��$��	�4�L�	
��������
F� �'2%� -� �%�
�
�.���	��2�!���!�7�
	�������!2���& $���	�� ���	���.��3�$��%�%�	� 
F����	 �%�
�
�.$1���	�
�	�������	�4�L�	
������������ ���2	����� 
Endogenous Growth ���&���1'�������������	��!�/�� Solow model 
�.�(3.���	 �	��2�!���!�7�
	�������!2����$�
�.
���'2%@0�2��2�	��� �	��9�	�������@����/��A�A�!�
����4!.� (Diminishing Returns) /�� 622��
�����	��3���3.� �%�
�$��'�	����	���
���	�/0�� I0.��'2%
��A�$1���!��	�/�	����
	�������!2�	�/0�� ������	�&��'�	��	��4!.� 622��
���/�	& ��3.�� 2%@0�2��2�	���$� 
�.
�� 
������ ��3.��2	�
�� �%�
��� 622���	�A�!��3.� K 2�	��� �(�� ��
�.�!�2�	��� ������	�
�.��
���%�1�	%
�2�	��� ��
��4�	��:���(	�! ���@��!�2�	��� ������� �	��4!.�
���/�	& ��3.�� K 
�	�
�.
���'2%@0�/��2�	��� 
�	$1�A�A�!�
����4!.� (marginal 
product) 
�.&�������!.�������@���� ��%�	��2�!���!�7�
	�������!2�'2%��!.�(%�������$�
�.
��   
 ���	�&��'�	� Endogenous Growth �����1'���	�	���
��$�
�������� &����	2%� -���	��	��0��	 �	�4�L�	
���%SP�3�����	� �	��!2����%�	�4�L�	 (R&D) ������������ -� 622��
�	�������	��2�!���!�7�
	�������!2 7����3.����	���
��$�
���������	�/0�� �'2%
��A���%
����
����$�
	�
�.� -� �%7�(�� (positive externalities) 7��
�	$1� �%(	����%����	�$�
�������� K 7��
������
	�	�@4�L�	 �%
!
:!#	4$��	�A�!�$1�
F��	�/0����%
	�	�@A�!�
!���	��%��!�	�&���	�/0�� 7��$(�
����% 622���	�A�!���	� K �
�	��!� I0.�
��A�$1���!��	�/�	����
	�������!2�4!.��	�/0�� ���$�#	�%
�.
��4�	����2�	��� 
8�9� Endogenous Growth ���� �(3.���	A���%
����
����$�
	�
�.� -� �%7�(��/���	���
��$�
�����������2%��
F��	� 2���%
�.�
	�	�@����	�A��
��/���9�	�������@����/��A�A�!�
����4!.���&�� 
�	$1� �%�
�
�.���	���
��$�
��������
F�
	�	�@���	��2�!���!�7�
	�������!2
�.��.��3�& $���	�� ���	�&�������
!��
��  
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 �	������	��!�/�� Endogenous Growth ���� �	���
��$�
�������� 2%
��A���%
����
����$�
	�
�.� -� �%7�(�� 7��A�	���%����	�
�.�������	 Spill 9 over 
effects ��% Learning 9 by 9 doing effects  
 ���	��3���3.����	���
��$�
���������	�/0�� &����	2%� -���	��	��0��	 1�3��	�4�L�	
���%SP�3�����	� ����2��	��!2����%�	�4�L�	 2%
�	$1���!� Spill 9 over 
effects �3� ��3.� �%(	��1�3�AF�$(�����	����	��0��	�	�/0�� ���1��	������2	��� �%
!
:!#	4$��	�A�!�
F��	�/0��
	�	�@A�!�
!���	1�3���!�	�&���	�/0������ ���1��	���������2%�� E!
��4��:���%���� ��.����	��F�
�.��&���������43.�������	� I0.�
��A�$1� �%
!
:!#	4$��	�A�!�/���43.�������	��3.�K �4!.��	�/0��& ���� ���2	������	�/�	����/���	��0��	/�� �%(	(�7��
�.�& ���
�	$1���!���%����	� Learning 9 by 
doing effects ������� ���	��3� ��3.������	��0��	1�3�&������	�ST�S���	��F��	�%���1�0.� ���1��	����'2%
	�	�@������F���%
%
���	��F��4!.��	�/0��& ��3.�� K 2	� �%
��	�"�$��	�
�	�	�2�!� 
�	$1� �%
!
:!#	4$��	�A�!�
	�	�@4�L�	
F�/0��&����F���3.�� K 
��� K 
�.�	22%���%����	��0��	
�.� -�
	��	��
�	��!�  
 ���������%����	� Spill 9 over effects ��% Learning 9 by doing effects ��� 20�� -���%����	�
�.
	�	�@�4!.� �%
!
:!#	4��%����#	4/������	�$1�
F�/0�� ��%
�	$1�������!2
	�	�@/�	����&��7��
�.��
��4�	�� ��%�	���
��
�.2�	��� ���2	�������	�
	�	�@$��	�4�L�	��	��F���% �%
!
:!#	4$��	�A�!�/�������� ��	�
	�	�@$��	�������F���%4�L�	�
�7�7���$1�� K ������������ -���%����	�
�.��!�/0��2	�#	�$��%��������!2��� (endogenous factors) ������� �	������	��!�/�� Endogenous Growth 
Theory ���� �	��2�!���!�7�
	�������!220�� -���%����	�
�.��!�2	�#	�$� (endogenous 
growth process) 7����3.����	���
��$�
������������ 
���������1��	����'2%���	�
%
���%/�	�������& ���	�&����
�.
!��
�� A�	���%����	� Spill over effects ��% Learning 9 by 9 
doing effects ��%
��A�$1�������!2���	��2�!���!�7����	�&����
�.
!��
��  
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3.2 /��	��	
)0��	��"���"�#���� 
 
 �%)����1 2(�%$
'���)��� (2521) �0��	�	���
��$�#	����
	1����/��&
� 
�.&������	�
���
�!��	���
��2	� BOI 2	�A��	���	��!��	�7��$(��	��!���	%1��(!�4��"�	4���	 ��A���
�.��!�2	��	���
�����������!2$���	���	�K �(�� �	�&�� �%(	(	�! �	�2�	��	� �	�$(�
��4�	��:���(	�!#	�$� �%�
� ��%4���	:���!2
�.&������	�
���
�!�
���$1��2%$(��!:��	�A�!�
�.�����	��� 622��
��$�
��
���
�.
F� �	�40.�4	
!���	
����%���@��!�
�.������	�/�	
F� ��3.���	2	��7��	��	�
���
�!��	����
��/��&
�$��%�%���K ����
���
�!��	���
��$�#	����
	1����
��
��	���	�/�	 
  
 �&��	 ��-�
.�&�(
 (2535) �0��	�7��	� �	���	� ��%
@	����43.��	�4�L�	���
	1����(��
 I0.��0��	2	����
	��
��A��	���	��!��	� ������	�	�!���	%1��(!�4��"�	 
�	$1�
�	�@0�A��	��0��	$�
���/��
�	����	��"%�����	�
���
�!��	���
�� 4���	����"%�����	�
���
�!��	���
��2%4�	�	�
���
�!�$���	�2��1��� ������� P 2517 �������	
��8
:!GA���3.��2	����	�� ��.��� ���!�	�������������.������/��	�
���
�!��	���
�� ����2�
!.�2F�$2��%A� �%7�(��
�. $1�  ���2	�����������	�/���������	��	�$����@� �%
���/���"%�����	�
���
�!��	���
�� ������$1���!�(���71��$��	�4�L�	���
	1������	�2��1��� ��0.�
!.�2F�$2��%A� �%7�(��
�.$1�$��F /���	�������#	���	���	 ��%#	����!�&���!�!������'�F�1�3����	 &�� �%
!
:!A�$��	�
���
�!����
	1������	�2��1��� �4�	%���
	1����$���	�2��1��������7���
�.2%1���1��.���	��
��#	��������	���F����� 
 
 #��
+ -�)�	� (2536) &���0��	A�/���	�
�����2	��	���
�� 7�����2	���	� �%�
�����	��2�!���!�7�
	�������!2/�� �%�
�&
� 7�����	� �%�	"��	A�/���	�
�������%A�/���	���
��7�����2	���	� �%�
�
�.������	��2�!���!�7�
	�������!2/�� �%�
�&
� $(�
��	��	���!�7�I0.�� -�����!�56���(�.��	�A�!� 3 �F ��� �3� 
Hick-neutral, Solow-neutral ��% Harrod-neutral  �%�	"��	7���!:��	� OLS ���/���F����������	/�� �%�
�&
� �!���	%1��43.� �%�	"��	 2 /������ �3��	� �%�	"��	�	���!�7�/��A�!�#	4����������	��!��	� �%�	"��	A��	�
�������%�	���
��7�����2	���	� �%�
� 
�.���������	�	��2�!���!�7�
	�������!2/�� �%�
� 4���	�	��2�!���!�7�
	�������!2 (GDP) �4!.�/0��2	��	��4!.�/0��/���	�
����� �	� �%�	"��	A�/���	�
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��
��7�����2	���	� �%�
� &��
�	$1���!�A��	�� ��.��� ��$�����	�	���!�7�/��A�!�#�"U�������#	�$� �%�
� 
	�1����3.���	2	��F���	/��
��
���1��/�� �%�
���3.�� �����
����������F���	�	����	�F���	�	���
��2	���	� �%�
��	� 
 
 �
6�� ��	�	' (2540) �0��	�
�	
/�� BOI ����	��2�!���!�7�/�����
	1����$�(��� P 4.�. 2534-2538 7��$(��	��!���	%1��(!�4��"�	 ��%�(!� �!�	" 4���	��2�	���7����	���
���	/�����	�
���
�!��	���
���4!.�/0��
�� P 
�	$1���!���
����%�	�2�	��	��4!.�/0�� ��!���
��
���$1����%2	�& ���7����	�
�.��/�	���!���
���	� �	����	/�	�7����	�
�.����!���
������ �	���%2	���!�
�����&������	��
�	�
������ �	���%2	����/��
�.����7����	���
��/��#	����
	1����
���$1��2%��F�$��/� 3 ������	�3� �/� 1 ��%�/� 2 �	���	��� 
  
 $
��
 9	#
:
+��
�* (2541) &���0��	��	�
��4��:��%1��	���!�
����	� �%�
���%�	��2�!���!�7�
	�������!2/�� �%�
�&
� 7��$(�
8�9��	��2�!���!�7�
	�������!2��%
8�9���!�
��&1��/�	2	���	� �%�
� ���2�	���
�.$(�$��	��0��	�	��������	��!�/����7���	

!�� -�43���	� 7�����	��!���	%1� 3 �!:� �3��%��
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 I0.�&�������	���������
	���	�#	���	�������	�2	��!2�	��3.�K ��%��A� �%����	� P 4.�. 2538-2541 ��2�	��� 6  �%�#
�!2�	� &����� 1. �����������%A�A�!��	������ 2. �1�3����� �I�	�!�I���%7�1%/����F��	� 3. ���
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	�������!2/�� �%�
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� 7��$(��!:� Granger causality I0.�A��	�
�
�� unit 
root /������ ������!:� Augmented Dickey-Fuller test (ADF) 4���	���� �
������� order of 
integration �3� I(1) ���2	�����20�
��	����2�	��� VAR &��2�	���(������	/���%��
�.�1�	%
� �3� 5 ��%&�� VAR order �
�	��� 6 ��3.���	���2�	����	
�
�� Granger causality �43.�1	��	�
��4��:��(!�� -��1��� -�A��%1��	��	��2�!���!�7�
	�������!2��%�	�
����� 4���	 E!�
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	�������!2
�.�%�����	��(3.���.� 95% ��% E!�
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��������� ��.��3� �	�
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��A���%
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���������	��2�!���!�7�
	�������!2����	�
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��7�����2	���	� �%�
���. �Q���%
1�������!�	 $(�/���F�� -��	���3��(��� P 2540-2547 4���	 622��
�.� -������	1����!���
��2	� �%�
���. �Q��3� A�!�#�"U�������#	�$� �%�
���%�F���	�	�
����� 
�.�%������
�	��� 0.01 ��% 0.05 �	���	��� A�2	��	� �%�	"��	 ECM 4���	��	���'�$��	� ������/����!���
��7�����2	� �%�
���. �Q�����	�����% 85.78 
��� �%�
�
1�������!�	 622��
�.� -������	1����!���
���3��F���	�	�
�������%������(���!�
%4�� 7�������
�	��� 0.01 ��% 0.05 �	���	��� A�2	��	� �%�	"��	 ECM 4���	��	���'�$��	� ������/����!���
��7�����2	���	� �%�
�/��
1�������!�	����	�����% 10.75 
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